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GENERAL INSTRUCTION TO THE EXAMINEES:

1. TETR FaUM IUN U UF W ARG Sifarda: ford |
Candidate mast write first his/her Roll No. on the question paper compulsorily.

2. Wt ye B sifard 2
All the questions are compulasory.

3. TS U¥ B SR 41 T8 SR gRasr 3§ & fod |
Write the answer to each question in the given answer book only.

4. 59 vl § emaR® wvs ® S 9l @ SR TP 9 & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

5. U T3 & <l IR Sl SURRY # f5dt yeR @t I/ R/ fReme B9 W 2=
AT P U BT FE A |

If there is any error/difference/contradiction in Hindi & English version of the

guestion paper, the question of the Hindi version should be treated valid.
6. U¥ &1 SR for@y | 4 U &7 IS aey ford |

Write down the serial number of the question before attempting it.

7. 91 BT PR AR B
Weightage of marks for the question is as follows.

@'U@'—GT(A) 1(itox), 2toll 20 1
w@us—d(B) 12t019=8 16 2
@us—(C) 20t023=4 16 4
w@us—g(D) 241025=2 10 5
@us—3(E) 26 to 28=3 18 6

7. U 6T 20 9§ 28 § qaRe fdwey ¥ 1 |
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YAP YT 01 3P BT 2| (10x1=10)
() 17 &1 o BN —
(31) 189 @) 289
(|) 389 () 169

The Square of 17 will be :

(A) 189 (B) 289

(C) 389 (D) 169

(i) U f(x) =4x+2 Hx=2 I R 9IS &I 99 8N —
(

&) 10 (@) 8
(@) 12 (6

By putting x=2 in polynomial f(x) = 4x + 2, the value of polynomial will be :

(A) 10 (B) 8

(C) 12 (D) 6

(i) fgemd sgug x%2 —2x —8 @ BT BT IANT BN —
(@) —2 @ — 8

(&) 2 @) 8

The sum of zeros of polynomial x>-2x-8 will be :

A) —2 (B) —8
(Q) 2 (D) 8
(iv)sin% HT A BRI —

@ 1 OF

@) V3 (@ o

The value of sin %will be :

@) (8)

() V3 (D) 0

(v) T SHER @ & WRels, T & 915 & IR ©, al g &7

S~IT BT BT —
@ar) 45° @) 30°



The shadow of a vertical pole is same the height of pole, then angle of elevation of sun will be :

(A) 45° (B) 30°
(C) 60° (D) 50°
vi) fdg (5 —2) @ x — 31T & 2 BRA —

@) 5 @) 2

(®) 3 () 4

Distance of point (5, -2) from x-axis will be :
(A) 5 (B) 2
(C) 3 (D) 4
(vii) JMTRAT H DE 11 BCEI, AD= 4 |HI, BD=6 ¥l TAT AE= 5 |HI &, dl EC
BT A BN —

(@) 6.5 T @) 7.0 ¥
(&) 7.5 A @) 8.0 T

(vii) In the given figure DE Il BC, AD=4 cm, DB=6cm and AE= 5cm, then measure of EC will be :

(A) 65cm (B) 7.0 cm

(C) 75 cm (D) 80cm

(viii) T R fIvgeil & oA dTel gl & @ § —
(eT® @ <

(@) T () =t
Number of circles which passes through three collinear points is :
(A) One (B) two

(C) zero (D) infinite

(ix) el T ST 6 HHI B, el BT M- BT —

@ 16m T @) 20m O A
(4) 36m °FT A (8) 30m T W

The diameter of a sphere is 6 cm, the volume of sphere will be :
(A) 16mcm’ (B) 20mcm’
(C) 36mcm® (D) 30mem®



(x) 9 1,3,2,5,9 BT ARID & —

@) 3 (@) 4

)
)
The median of distribution 1,3,2,5,9 is :

@A) 3 (B) 4

(C) 2 (D)5

9.2 93 TRge™ &1 UANT &R 105 BT & S DI |

Find the square of 105 by using 'sutra Nikhilam'.

2 () 5

9.3 12 & g9%d 93 FRges & s sy |
Find the cube of 12 by using 'sutra Nikhilam'.
g 4 AR AN 6,9,12,15 oo P17 91 UG A PHINT |

Find the 7" term of the A.P. 6,9,12,15 .....coeur.......

9.5 ﬁ@a@wsﬁ?wwﬁaﬁ% | I8 od © b ¥ gRT
AT SiaT &1 ITfddr E g dl, WM B Sidd &I UIfdhdr /1 grfy ?

Two players Ram and Shyam plays a chess match. It is given that probability of winning of the match

4
by Ram is x Find the probability of winning of the match by Shyam.

U.6 Tdh U Bl b Hhdb ¥ AT F&AT' 37 DI IRl ST DITOTY |
In a throw of a dice, find the probability of getting a 'prime number'.

9.7 b ge 0 H R0 ey |

Write the equation of ' Stopping distance sight'.

g. 8 drsdl & o amawdd Ul g . B WX AW ey |

Write the full name of P.U.C. which is essential for every vehicle.

9.9 a3l (2, 3) 3R (5, 6) @ & BN T oo BT |

The distance between the points (2,3) and (5,6) will be..................... .

9. 10 UP R g 9 9ad 999 g1 WR Il drel 9w &1 675 9T BT |
The locus of a points which are equidistant from a certain point will be ............ .
U. 11 UH U BT Bhd W "4 F BT 3fd " I d uifdar ... BT |
In a throw of a dice the probability of getting ' a number less than from 4' will be ...............
Qs — 1
Section B
9. 12 " g anT A ¥ 7225 &1 A ST DI |
Find the square root of 7225 by using ' Dwandwa Yoga Method'.
9. 13 Ud GUTd 9gUe 91d DINIY, R bl &1 AT a1
UM% HA: — 3 iR 2 T



Find a quadratic equation whose sum of zeros and product are -3 and 2 respectively.

U 14 NG x = 2 &7 sedly Y & g A=y qwigd | 2

Show the solution set of the inequality X = 2, graphically.

U. 15 2sin45° cos 45° BT AT SITd DIV | 2

Find the value of 2sin 45° cos 45° .

U. 16 Udh UBTS! &I ol Aot I 60° &7 HIvT g41a1 2 | Af RER d@ uga # 500 2
HIeR AT gSdl 8 Al YBTSl Bl 918 A1 dIfor |

The slope of a hill makes an angle of 60° with horizontal. If to reach at top, 500 meter distance have to covered

then to find the height of the hill.
u. 17 & g @i # Al 0A = 530, AB = 8 ¥ dor 0D, Sirar AB R &4 g @ CD &1 91
ST DI | 2

A " B

D

In the given figure if OA=5cm, AB=8cm, and OD perpendicular to chord AB then to find the value of CD.

D

U. 18 TdH 10 ¥ oIHTg BT Ud T WU Wid HR ST 2:3 H M<IRE fIe P | 2
Draw a line segment of length 10 cm and divide it into 2:3 internally.

Y. 19 Udh Y T 12 ek $d Uld & WY R UPh CCTV HHRT el © dlfh
Ul & 29 q 13 AIex R gReX@T & AN BT 1A <&l Sl G |
9 R & 0TI & UTS (Feet) & a8 0, 9@ ST & Iramand fawms
<l €, S BT | 2

A CCTV camera is placed on the top of a 12 m high pole in such a way that traffic can be seen beyond 13 metre of

line of sight of it. Find the distance from the feet of pole beyond which the traffic on road is visible.

s —
Section C
. 20 fig @Y @1 a5 (1.-2), (3, 0), (1, 2) 3R (—1,0) TH o & MY T} 4
arerr
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Prove that points (1,—2), (3, 0), (1, 2) and (—1,0) are vertices of the square.
OR

Prove that two equiangular triangles are similar.

¥. 21 Rig #IRT & g (@, ), (—a,—a) i~ (—V3a,V3a) & 4

AT et & o 2 |
areran

S T Sl | A YoiTel &1 JuTd SRIER 81 Al i PITg b aMr Brget
TR Y B |
Prove that points (a, a), (—a, —a) and (—\/§a, \/%) are vertices of a equilateral triangle.

OR

If the ratio of the corresponding sides of two triangles is equal, then to prove that the triangles are similar.

U, 22 &1 TS ARG H g Bl BT 7 AHI B 3G gd H 99 I BT &FAB F1d DI | 4

<m

P Q

AT

& TS el ¥ ga @1 B O T Broar 5 W 2| afe OP L 4B, 00 L CD
AB 11 CD, AB=8 T 3R CD =6 ¥HI &I dI PQ SITd PISIY

In the given figure radius of the semicircle is 7 cm. Find the area of the circle formed inside the semicircle.

<m

OR

In the given figure centre of the circle 'o' with radius 5 cm. If OF L AB, OO L CD ag|| CD, AB=8 and CD=6
cm. Then find PQ



U. 23 &1 g AThHIT H AB I BT AT © dAT AC= 6 WA g BC= 8 WAl 81 I BIIIfhd 9T 4

C

BT AFTHS T DIFY |

Jrerdm
&1 TS Sl H DENBC & AT AD =X, DB=X-2, AE=X+2 3R EC=X-1 B Al X BT AN T HITIT |

c

A 5] B

In the given figure AB is diameter of a circle, AC=6 cm and BC=8 cm. Find the area of shaded portion.

c

OR
In the given figure DE Il BC, if AD = x, DB=x-2, AE=x+2 and EC=x-1 then find the value of x.

c

A 5] B

Tug —
Section D

T 24 3 9 BT R U g 99180, e = 9 5 99 ) Royd fag P 4 g 1 <1 el
TGN WU R IT6] THTS Bl ITOET gRT Sif BIfog | 4
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1| 9T BT I A 21trh

2 | g @I uRfeg B JI2+ b2 + k2

3 | g9 BT f[apor C 4
§ nr

4 |39 g T BT YOS &FHe D IXbXxXh

5 | €9 BT 3Ia E 27T

6 | Ml & YO b F Amrr?

7 | g9 BT AT G 3 711712

8 | T Hh=l gl gRT URdG &abhd H a3

9 | Il T 3MIdHA | rih

10 | 9o Bl IBYS BT dAHd J n(rf — r22)

Draw a circle of radius 3 cm. Construct a pair of tangents from point P 5 cm away from its centre. Also measure
the tangents and verify by calculation .

OR
Match the following
1 Volume of cylinder A 2nrh
2 Circumference of the circle B \/lz 4+ b2 + B2
3 | Diagonal of cuboid C 4
§ nr
4 Surface area of solid hemisphere D IXbXxh
5 Volume of cube E 2nr
6 Surface area of sphere F 4mr?
7 | Volume of cuboid G 3mr?
8 Area of the portion between two cocentric H ad
circles
9 Volume of sphere [ nrlh
10 | Curved surface area of cylinder J w(rZ — rf)
g 25 =1 \Rads AT 9 &1 Meda AT gRT 8t NG | 4

x+3y=6 2x—3y=12
Jrrdr
=1 IRaes THixor I @1 e fAfYr g™ g IR |
4x — 5y =20 3x+5y =15
Solve the following pair of linear equation by graphical method.
x+3y=6 2x-—3y=12

OR



Solve the following pair of linear equation by graphical method.
4x —5y =20 3x+5y =15
qgue — 3

U 26 Udh forfae Ac & fafdr R 99 600 S1d). g 7 o 99 700 S1d. Al &1 Scured oydl &
| T8 AT gY B TS a9 IUTe H U FAE wU A U FRga dem A gfg S 2 1 6

A1 PINTY (i) T ¥ H Iared (i) <9d a9 #§ Sare
arerar

100 HIR @IST Us 7ol & Hed W U BICT T 2| 9 MY W UP Hdl g&l 2 [l & [AuRId [FIRl )
A g PT QY yaR Red 2 f6 P, Q3R 987 U Y@ & 2 I PR Q & g1 &1 AT &l I=19
w11 300 3R 450 & a1 g7 Y SAE T PR |

3rerdT
=1 IRERAT s &1 U faaaq Al & 7y sa S
El 0—10 10—20 20—30 30—40 40—50
JRAERAT 7 10 15 8 10

A manufacturer of T.V. sets produced 600 sets in the third year and 700 sets in the seventh year. Assuming that
the production increases uniformly by a fixed number every year, find

(i) The production in the 1% year (ii) The production in the 10" year
OR

There is a small island in 100 m broad river and there is a tall tree on this island. P and Q lie on the opposite
banks of the river such that P, Q and tree are in the same line. If angle of elevation from P and Q at top of the tree
are 30° and 45° respectively then find the height of the tree.

OR

Find the mean of the following frequency distribution by step deviation method.

Class interval 0—10 10—20 20—30 30—40 40—50

Frequency 7 10 15 8 10

U 27 IR GOV FHR ST H 2| Ife AR BT ANTHS 50 dAT e do! GRT, A BT AR
DI TR AT AT AT AT DI | 6

AT

Rig Iy

sin @ +1+c059
1+ cos@ sin 8
31erar

= 2 cosect




" IRERAT BT 9D ST BITY —

Eni 10—25 25—40 40—55 55—70 70—85 85—100

EIRESING| 6 20 44 26 3 1

Four numbers are in A.P. If sum of numbers is 50 and largest number is four times the smaller one, then find the
numbers

OR

Prove that

sin @ 1+ cos@

1+ cosé@ + sin 6 = 2 cosecd
OR
Find median of following Frequency distribution
Class interval 10—25 25—40 40—55 55—70 70—85 85—100
Frequency 6 20 44 26 3 1
T 28 AR al 3,15,27,39 ........... 639 @ UQl @I AT S DINTY TAT 3T 891 U A dIToTy |
6
34T
sin 30°+tan45°—cosec60°
sec30°+co0s60°+cot45° 1A ST T
3T

1 g7 &1 79 7.5 B A P BT HF S HINY 8IR g &I Jgd W S HIfoTg |

X 3 5 7 9 11 13
f 6 8 15 P 8 4
Find the number of terms in A.P. 3,15,27,39 .............. 639 and find 8" term from last.
OR

Find the value of

sin 30°+tan45°-cosec60°
sec30°+cos60°+cot45°

OR

If mean of the following distribution is 7.5, then find the value of P and also find the median of distribution

X 3 5 7 9 11 13

f 6 8 15 P 8 4




